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(2) Attempt any four out of remaining six questions.
(3) Assume any additicnal data, if required, but justify the same,

(4] Figures to the right indicate full marks for that question.

(5) Use of calculator is allowed.

Q.1) a) Solve the following L.PP using graphical method
Maximize Z=5X;+8X;
Subject to 15X;+10X; € 180
10X:+20X, £ 200
15%:+20X; € 210
cand X, X220

b) Solve the following assignment problem and find the optimum as%t that will result in  [10]

minimum man hours needed,

Workers

Q.2) a) Solve the following LPP by Simplex

lobs
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Maximize Z=300X;+200X»
Subjected to, 5X;+2X; £ 18

IXi+3X:¢1

And X1, X220
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b) Find the initial bas f@ulutimn for the following transportation problem by Vogel's  [7)

approximatio
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0.3) a) Solve the following LPP using Big-M Method.

Minimize 2= 2Xi+Xa+Xs
subjected to, 4X; + 6X; + IXz £ 8
Iy = 6X;-4Kas 1
2%+ 3% 5Kz 4
and Xy, %2 X320

b) Suppose the faliowing estimates of activity times (days) are nrovided

Activity | Optimistic time

Most Likely time
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i) Find the critica! path of the project

Q.4} a) Five jobs are to be processed gt t f':. m

by each job on the three mac "
pDetermine the optimum s ne

Each machine,
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Nachines A8 and C in the order ABC.The time taken (8]
=n below.each machine can process one job at a time

r the jobs and total elapsed time .als50 find the idle time for

[ Task | 1 3 o e T
| § 12 3 3 8
[ 5 8 6 7

' 13 a 10 14 |

#ima! strategies and valu

Player B
| Bl | B2 B3
Piayer A Al -1 2 1
A2 L -2 2
A3 | 3 A |

e of the game where pay-off matrix of the two player (7]
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